m \\?{r o fols

T

¥

s 1I2ERFEFER R RS E

i P MBI AREFPRTAEE 2023 £ ITEFEH -

PRI RELTERT OBEEAEFIEN LML E S TR
~hEE R R &

LyRE e AR A RBPRT AL

R e B B TR L P U AP S = NI <

KypH = AT FRE AR

B E

(=R} mEse R - 2 R

(OB P Eole t H R 2w s

(ZOR g BT 7 £k

= ‘ﬁﬁ/ﬁ%‘” S

LmgEE R o L] LAEEATOR 1500 A AN B EALE R Bk Ko
Bree%o ] AFATOR 1000 A AR R EAL S 2 Sk ko
BPHZ bl LEATSRE00 A AR E B SR ke Ko
BBz ivh ¢ EATSR 300 ABEEREEME R ke Ko
FLAEHEATS R 20 A EERNE B L Pk Ko

(=) FpH 11226 11p(EHp)-
(ZOWFEB AP FERFCARNLF
(3 Hhf74 7 i % e S £ 245 & 60 5U)
()35 5 FF A R hRERITAD 2 ERRERPESZ VG
Google # H 3F & https://forms. gle/mduoQ2zoEyUBhzGTA » f #-& =X /& 3F
L4 DELF D
I MAReL G 112267 1 paddp 2 F N340 AR itk
B33 T fm SPREFL -

2. E-mail 4F & @ sp#4F &4 F 1 [1026k@thyes. ntpc. edu. tw  (G>+ 112 &
6% 5p &EF— w%‘ﬂ:)’ 280 L5 RR o £38 5 200 & Ao 4
IRH-RAR L P PR R RAT o

(v a0 d RPpE g F 0 Ao Bl e

(I)FHPF gHFF T BIMIE FERER

(FOPHEFH  AAMEFF - 222N EERTFR TK
12 &#RFEFESTEVF -

()?& Prirdnd 2t pdtETgLi i

ERN ¥°%
(- )4 IpER : 08 : 30-08 : 50



https://forms.gle/mduoQ2zoEyUBhzGTA
mailto:f1026k@thyes.ntpc.edu.tw

(Z)#FFRE 209:00-10 20
(Z)=F R 10 :30-11: 00(R | & &%) 11:00-11: 30(R | * # &%)
11 :30-12 : 00( B /] & & )
(m)=g &+ 13 :00-13 : 30 2 3|
A AR EI
(“)FspR- B EE R (@R P Hdop Ak TE) X pFETR1IE
(L L ARIZARAF) OV FEFI AR (Fp¥) 2FFEFENFEH
PRV FC A ERESSRE R TR EF BRI Ey o
HIFE% 5]~ 3% o
C)ﬁﬁﬁ“%i?iﬁ’7§€§E%W%i}$?ﬁ%§m%§1g@%i
HoAARE A AEE O e F B ERH L2 AR R P
&% pEk o
(Z)IBSFfE > FF AR ATE N A0 N A LT TR HHF o
SR S A BT DRSS ) ER-TATA 112 &
RREFETZ VR [$RFERIHERET > - 2381

. > . 2 =
A S A [ A F

Plogp ARSI MER A RERRT AL EAE -

SR B % A 'é%[ﬁ‘i‘l'k el sy k

ok



fiH i 1

gt 1122 RREPEL A FERHE L4

o , . I (o d 3pal 58]
v BN R M#E ke

[ ] ¢ &%l o B
GriE) |ORlsese

tE IS T T
ap O]
3d F%i*';lt_[}_
FURE N RORyRE B B 1 o iR o
h 31 4%
H_“ﬂ‘ ]PTE]
[FrMABREBTEREFLE ]
A 2 Sde THTAD 112 ERRE P 2% e o

7
FREEGAERERAFS P A BT A B ARTL2ZF 57 L RFE %
Z‘ﬁtg"/ﬁ’ ﬁ'&py‘fé ﬁ&ﬁ?&?"—‘%"ﬁ )35‘19‘ ﬁi‘f$”l~ T ?r,rg» PrH (TR 2 :ILE':;- o

l«LL_?f;( Eﬁ@]/zkj&f{% 3? i\g-%g
pliEH (F 2t (£%)
TR T
xS E NI A 2 (%)
PooE oA R/ 112 = 7 0




